BN RIS

11024 B RE LI A SR E

&
£
el

M

=
)

i

& m S

ﬁl_l{:

» 176 ~ 199
AT -
D TREEEE
0202

P53 E

D AEE RET R

BTS2
EIRENER-E - oK



@ 176,143 BETRRIIAER 110 SR ERE R ITRA S EE

%

Fi B TRS % BRERER R JER

EHRE - TREES HELEHA ¢ 0202 0 BT 1 3
F1g  F1H

K BEBEE  ARENEAER -  BRERERIEE  NEREER LESE RS -

1. Please solve the differential equation (20%)

(2% + 2xy — y¥)dx + (v? + 2xy — x¥)dy

Solve the following differential equation with zero initial condition. (20%)
t2y7(t) — 2ty' () + 2y(t) = cos(2In(t)), t>0

Solve the following differential equation (10%)
xy' =4y =x

Find the value of é-+ In
differential equations, where H(f—a) is unit step function or Heaviside function. Show the details.
(20%)

by solving the initial value problem for the given system of

[1(0.53— y({J.S)}
3

x'=2x+4y=H(t-1)-¢
—x+y'+3y=H(t-1)-¢

x(0)=3, (0)=0

Let vector field ¥ =-yi+xyj—xpzk. Evaluate the value of -2+, ’l H}_.(Vx F)-ndo ,where & is
F

the part of the cone z=+Jx*+y" for 0<x*+y" <9 . Show thedetails. (20%)
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Evaluate L — . (10%)

:rx(xz +])




